EREUVEH EOBRBEILOBER(SM6E4A1HIRAE)
DT B+ (—)

X4 %ﬁ&%u%iﬂ%ﬁﬁﬁl: & &t A 3 B4 oD B
BETOEELGIHTE [ ()] (%) B % PNINIIOIE
E3ES 40
E53:] 5
13 3 B 7
[ EETEE DR 77 | 19.9 BERm 5
bk HEES & 2
#HEEiUt 2
g 77
EEXE: 61
Bl R EEm 1
B R Y 1 BE
2%k |BIEE DTS 80 | 207 (&&=t 4| 230 | 596 | B
REHH 10 E4
bk HEES & 3
H 80
FE 52
FEREED 6
ﬁ&ﬁ%ﬁ?&i 1
3 y Bt 3
|| EFEOBE 73 | 18.9 ApAEN .
bk e & 5
BEEYGH 1
H 73
I 3
nmE 55
TES 5 BE
WEXE 6| 78 | 202 | E
BFEEE 5 E4
BEE 1
EEXSE 3
4%k (MR DTS 109 | 28.2 [#4ZVIE 23
BECEA 3
TEE 1
HIRFT R 1 s
FEE 1 &
BIFfE 1| 34 | 88 | I
BEEE 1 E
=t 109 £
BRI R 1
FEE 1
BHEEE 1
BEEBRARE 1
%E 22
§ v [=] 3
58 [ERROBEE 40 | 104 SHE ) z
BEREL 11 37 |96 | E
& 2 4
BEf 3
It 3
g 40
61k | REDBT 0 0 - 0 0 0 é
g %
BEREBERE 1
ﬂﬁmiﬁ " ﬁ
745 |5 e RETEL 1 "
& | BB R DTS 7 |18 BERE 7] 18 ﬁ
HIEE 1 !
g 7
&5t 386




QT BRI R (Z)

4 FiRABEBIERIC & &t A 3 I _E oD B s
RES OEE LT DB (N) ] (%) B 4 (N (N | (%) | B
148 [HAE B OB o | o [HEER 0
—EDREE-REBEVNELT S HEEE 2
28 |pee B OB 2| 166 T .
MY DA BREVELTS ] 0 2
3k e B O 0 0 s 0 11 | 100 g{
EEOME -REBEOVELTS HEEE 5
AR e B DB 5 | 455 # s
5Hk | T AR DB s |ooo [FEERER L ¢
i 11
QHBE AR
X 4} %%&i‘:ﬂ%%ﬁﬂﬁﬁ%%l: & &t N i Bl _E D EX [
RET DEELLDHBH (N) | (%) B % () [ ] (%) | BB
B = 4
1 BEXEIME DR me 3
o BEEomE 21207 g v e 16 &
— 28 [ 318]| B
a 23 ?,f‘s&
2%k | EEDBTE 5 | 57 £ . :
®RE 13 =
3k |FREDHHE 33 | 375 ﬁ*ﬁfﬁ 19 33 |a75| &
TEE 4 ff‘;&
B 33
FERWIE 5 .
EUE§= 6| 19 |216]
1 BEBEORE ;ﬁﬁ 2 &8
2 HEFERDBHS B 6
4%k 3 EBEOBE 26 | 295 =g 1 _
4 HIEFFR DS B3
B33 5 . g )
H 26
58k | REDETE 1 1.1 R . } 1 1.1 ﬁ
&5t 88




@1 FRHERR OKE)

=4 4 R B R [ & &t S B £ D BB
RETDEELLDBE | (A)| (%) B % N[ 0| o) | Exme

14k | B RIT AR DS 1 | 56 1R . 1
= BE
248 |BI OB 6 |a1s|[BER . 2 10 | 556 | &
A &

3 | EEOBE 3 | 167 |[EE 2
- i
nE 2 2 |111)] =
&
4% | MR DB 5 | 278 |iEME 3 0 TE
3 |167| E
B 5 & &
H B2
5%k [REDBS 2 | 111 A - 2 2 |11 E
B 2 e
K
6k | REDEH 0] o0 - 0] 0| R
S 0 e
0nE 1 B
7k (B E DB 1 | 56 - 1 |56 &
B 1 e

55t 18
Ok F T EEHE R R (R) _ i

X 4) SR EERFRIC & &t A i B F E D ERFE
7 RETIEELL DB (AN (%) B % NN (%) [ BB

3

14k |EB0OHBH 3 |176 % . 5
=& 2 B
2%k |BIEFE DOBETS 5 | 294 |31F1F 3l 11 |647| B
z &

F 5

3

3k | EFE DTS 3 |176 EE - 5
BIEER 2 Ui
1 BEROBH =5 | * |1 &
4% |2 EEG)H’E‘#Z}’? 5 | 294 -5 1 ﬁ‘»":‘\ﬂi
3 REDEH = : | s £
& o &R
7 1 B
5k [EHROBHE 1] 59 FHE - 1159 &
F 1 &

&5 17




©1b 5 = FE 1 68

X 4) ERANEERFRIC & it A i B H] £ D ERE
7 BT AEELLDIRBE (N ] (%) B % N OO (%) [ EBRE
15k |EETD XS 0 0
0 =
1 EERDREF B 8| 10 | 4001 &
2% |2 TEEEOBS 9 | 360 |XIEELR 1 #
3 ERDBH o
EE 3l 3 | 120 E
1 ﬁlﬁ:%;g%a"%‘éﬁr) EuﬁBE 1 -g-[;
EJTiT0)i5%: |
2 EEQBK nE N 5
3k |3 MEREDOBE 15 | 57.6 —
4 IR OB BE 2l 2 |80 &
5 BROBHS S
6 BlRROWBH Al L
15 B #R
& 1 53
4%k [FRR DB 1 | 40 1 40| E
1 EA
&EH 25
D EERE 2461 R _ _
X 4) E RIS EN & it A iR I £ D P
7 RETIEELL DB (AN (%) B % N [OT (%) [
G ERRE D 3
18R | BEm DTS 4 | 85 |BEMSTIREER 1
4
BEEEt 3
B R AR A FEm 2 W
1 BERDRE ZEFHI|Em 1| 33 | 702| &
2%k > TEOBE 20 | 426 . 1 &
=& 13
20
=1 9
34k |BIEE DT 9 | 19.1 BlEHE :
N e 6| 6 |128 %;
1 TEOBF ey 2
10 & 1R
: 4 B
58 (BRI ROBE 4 | 85 ki 4 | 85| &
4 e
&5t 47




® 1 K E R 3FEH K

X4 ERANEERFRIC & it A i B H] £ D ERE
FRE T BHELE DTS (A | (%) B 4 (AN [CA) ] (%) | ExBE

14k | B R DTS 0 0 . 5
” . & Em 56 B
28R ; ﬁé%@%ﬁ 80 | 588 |x=& oa| 105 | 772| &
5 80 '%&

3% [mxEomE 25 | 164 BT E 2:
N FHIME 1| 11 | 8.1 fg
4%k |2 BIEROBH OB 19 | 140 |BIE#EGE 8 Rt
3 EIEEMROB - 8 | 60| &
Gl 19 & &

SRS 1
1 PR DB =R 1
5%k : - 9 | 66 E 3
2 FEEMROBMAE ERME 71 11| 81 | &
= 9 H

ElFIESS 2
o |1 BEEOHE N I 1 5
2 EHEOBE < B ; 1 lo7| &
B 3 P

&Et| 136




